


Economic problems nearly always produce political problems, because governments suddenly find themselves having to deal with difficult problems. This is what happened in Germany after the Wall Street Crash (1929). The coalition governments in Germany found it difficult to agree about how to help Germany through the massive economic crisis of the depression. This led the President, Hindenburg, to use article 48 more and more often, so that Germany became run more by dictatorship than by democracy. Article 48 allowed the President to pass laws without consulting the Reichstag in times of emergency. The economic and political crisis helped Hitler to gain the second most important job in Germany in 1933, Chancellor, and soon after to become the Fuhrer, or leader, of Germany. 

Between 1929 and 1933 the top job in Germany, that of President, was held by Paul von Hindenburg. He was 82 years old in 1929. He had been Field Marshall and Commander of all German Land Forces during the First World War and was rather old fashioned, disliking Weimar democracy and preferring the old strong military rule of the Second Reich (the government before the First World War). Hindenburg also disliked the Nazi Party as he saw it as being too extreme.

Because he disliked the arguments of coalition governments, Hindenburg often used article 48, so that he could ignore the Reichstag and pass laws as he saw fit. 

2. Complete the following fact table for Hindenburg.
  
   You may like to use: www.bbc.co.uk/historic_figures/hindenburg_paul_von.shtml

In 1930 Hindenburg used article 48 5 times, in 1931 he used it 44 times, and in 1932 he used it 60 times! Over the same period the Reichstag met less regularly. In 1930 the Reichstag met 94 times, in 1931 it met 41 times, and in 1932 it met only 13 times! This meant that largely because of Hindenburg, democracy in Germany was not working effectively. Some historians maintain that Germany had in effect collapsed into dictatorship even before Hitler became Chancellor in 1933.
3. Describe how German democracy was failing to function effectively under Hindenburg. Give statistics 
    to back up your answer.

In 1929, when the Wall Street Crash occurred, Germany’s government was a coalition between the Centre Party and the SPD (Social Democrats). As Germany slid into depression, and the number of unemployed reached millions, these two parties began arguing fiercely over whether or not to cut unemployment benefit. In the end the Centre Party won, and benefits were cut. The people of Germany and especially the unemployed were furious. The result was a massive rise in support for the Nazi Party. The Nazis promised to provide strong leadership and to create a job for every working man. In May 1928 the Nazi Party held only 12 seats in the Reichstag. In September 1930 they managed to win no less than 107 seats, and in July 1932 they more than doubled this to 230 seats, making them the largest party in the Reichstag. 

4. Explain how the Nazis benefited from the economic and political crisis of 1929-33. Give clear facts and  
    figures in your answer to illustrate the level of their success.

Hitler could now challenge Hindenburg for the top job of President of Germany. He asked to be appointed as Chancellor. The only problem was that Hindenburg distrusted Hitler, so he refused to let him have this important position. Instead Hindenburg appointed his friend Papen, who also distrusted Hitler. Unfortunately, Papen had no support in the Reichstag, so arguments in the government continued! Therefore, Hindenburg was soon forced to replace him with another Chancellor, Schleicher. The only problem was that Schleicher was Papen’s arch enemy, and Papen was furious! What could Hindenburg do to bring stability to the Reichstag?
5. Why didn’t Hitler get the job of Chancellor when he first asked for it?

6. Who did get this job, and why didn’t he last very long in this post?

7. Why did Papen the appointment of Schleicher as Chancellor cause further disruption within the Reichstag?

 

Papen soon began plotting to bring about Schleicher’s downfall. He decided his best option was to convince Hindenburg to sack Schleicher and appoint Hitler as Chancellor, despite the fact that both Papen and Hindenburg distrusted Hitler! Papen would simply go to any lengths to destroy Schleicher’s career.

Strangely enough, the thing that enabled Papen to convince Hindenburg that Hitler could now be trusted was the fact that the Nazi’s votes were by now FALLING. This was partly due to voters’ dislike of the increasing violence of the SA, who had killed hundreds of members of Communist gangs in street fights during 1932. In the elections of November 1932 the Nazis won only 196 seats, compared to 230 in July 1932. This meant that both Papen and Hindenburg believed that the Nazis had passed their peak. They mistakenly underestimated Hitler too. They thought that Hitler could be easily controlled, and that if they gave him the job of Chancellor, they could make him do what they wanted. 

8. How was Papen able to convince Hindenburg that Hitler could be controlled?

So on 30th January 1933, the aging President Hindenburg appointed Hitler as Chancellor. Hitler was delighted! He had now won the second most powerful job in Germany. He knew it would only be a matter of time before Hindenburg died, triggering a Presidential election. All Hitler had to do was wait. Then with the President’s powers he could begin dismantling democracy and establish a dictatorship. 

10. Why was Hitler so sure that being made Chancellor was the first step on the road to dictatorship?

Hindenburg was dead by 1935 and Hitler combined the office of Chancellor with that of President and became the Fuhrer – leader of Germany.

WJEC Exam Style Question:

Explain why the Weimar Republic was politically weak. (4)
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